Aberdeenshire Council

Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 6 - Peterhead South and Cruden

3,395

3

849

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
George HALL	Scottish Conservative and Unionist	1,105
Neil JOHNSTONE	Scottish Conservative and Unionist	298
Colin Alexander SIMPSON	Scottish Liberal Democrats	414
Stephen William SMITH	Scottish National Party (SNP)	1,578
	Total	3,395

Candidate George HALL Elected with 1,105 votes, being in excess of the quota of 849 Candidate Stephen William SMITH Elected with 1,578 votes, being in excess of the quota of 849

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Stephen William SMITH

729.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil JOHNSTONE	158	0.46197	72.99126
Transfer to Colin Alexander SIMPSON	799	0.46197	369.11403
No further preference	621	0.46197	286.88337
Not transferred due to rounding			0.01134
	Total		729.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of George HALL

256.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil JOHNSTONE	967	0.23167	224.02489
Transfer to Colin Alexander SIMPSON	57	0.23167	13.20519
No further preference	81	0.23167	18.76527
Not transferred due to rounding			0.00465
	Total		256.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Neil JOHNSTONE

595.01615

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Colin Alexander SIMPSON	149	1.00000	149.00000
Transfer to Colin Alexander SIMPSON	104	0.46197	48.04488
Transfer to Colin Alexander SIMPSON	505	0.23167	116.99335
No further preference	149	1.00000	149.00000
No further preference	54	0.46197	24.94638
No further preference	462	0.23167	107.03154
Not transferred due to rounding			0.00000
	Total		595.01615